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General Answer Format:
591|186 2|47 3
Each Su:jloku hss twc|>I (;narked rﬁws or colur;ms. ©P> 36 7|59 4|21 8
You need to submit all digits in the corresponding
directions, from left to right or from top to bottom. 8 241 73|16 59
1 3 2|9 85|74 6
In the example, the two answer keys are: 6 4531 7|98 2
1A: 367594218
B 285749165 3 g g g § ‘13 g g 1
All puzzles will use digits 1-9 in the submission. m 2.8 374 916 5
4 16|25 8|3 9 7
Submission Page:
http://gp.worldpuzzle.org/content/sudoku-gp
Version:
This is version 1 of the instruction booklet.
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1-6 Classic Sudoku
Place a number from 1-9 in each empty cell in the grid such that each row, column and marked 3x3 box con-
tains each number exactly once.

Example Solution

118 214 59118624 7 3
6 9 1 36 7|59 4(2 18
8 9 82 4117 3|6 59
1 9 8 5 6 113 2(9 85|74 6
£ 3 7 8 6 45|31 7(98 2
9 4 2 6 1 97 8|4 2 6|53 1
7 4 7596 3 1(8 2 4
8 4 6 28 3|7 49165

6|2 8|3 4 16|25 8397

7 Consecutive Clone Sudoku
Apply classic sudoku rules. Additionally, in each shaded region of the same shape, the numbers placed in
corresponding cells of the regions must be consecutive.

Example Solution
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8 Anti-Knight Sudoku < -
Apply classic sudoku rules. Additionally, numbers placed in cells related by a
chess Knight's move (see the diagram) must be different. 1
X X
X X
Example Solution
3 ) 4 3927 51|68 4
2 6 54 712 8 6(3 9 1
6 7 8 16|39 4|7 2 5
8 1 ) 28 3917456
9 4 2 3 97 5|46 281 3
6 3 4 16415 3 8|27 9
9 ) 6 2 9(1/7 354 8
8 5 73118 4 5[(9 6 2
4 2 4 4/5/8|6 2 9|13 7

9 Non-Consecutive Sudoku
Apply classic sudoku rules. Additionally, numbers placed in adjacent cells must not be consecutive.

Example Solution
2 3 8 1 4 2 7|3 68|51 9
8 1 L 86 3[9 15|27 4
59 1|74 2|6 3 8
7/ 3 7195 2 6|4 83
8 2 3 85|174|9 26
6 1 6 42|83 9|7 5 1
27 416 8 3|1 9 5
9 5 7 936|125 1(8 47
S 4 l4 6 15 8|49 7|36 2
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10 Killer Sudoku
Apply classic sudoku rules. Additionally, the numbers placed in each marked cage must sum to the total
given in its top-left. Numbers must not repeat in cages.

Example Solution
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11 Sum Sandwich Sudoku
Apply classic sudoku rules. Additionally, the clues outside the grid indicate all numbers placed in the corre-
sponding direction that are the sum of the numbers placed in the two neighbouring cells in that direction,
e.g. 132. If anumber is not clued outside the grid, then it must not be the sum of its two neighbours in that
direction.

Example Solution

8 6 7 - 98 - - - 8 6
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12 Palindrome Sudoku
Apply classic sudoku rules. Additionally, numbers placed along marked lines must form a palindromic se-
quence, e.q. 12344321.

Example Solution
8 / 4 6 8 52|73 4(9 16
6 3 3 16|28 9|54 7
7 3 4 7 9156 1|8 3 2
1 ) 143|169 8|72 5
92 8|3 7 516 4
) 8 5 6714239 8
3 3} 6 31|82 7(4 5 9
5 2 795|141 6[(2 8 3
2 9 3 1 2 8419 5 3|67 1

13 Mathrax Sudoku

Apply classic sudoku rules. Additionally, some clues are marked at the intersection of a 2x2 block of cells.
Where a number and an operator (+, X, —, /) are given, the number must be the result of applying the oper-
ator to the numbers placed in both pairs of diagonally opposite cells. Where an“E” or “O" is given, the cells
must contain respectively even or odd numbers.

Example Solution
) 8.6 2{751/9 34
L L 473.7|9.2 6|58 1
i A 5 191378 4l677 2
IR 9/7/3[1.4 8]2]5 6
T L 2 45|69.3|7 18
i 68112/ 77514 9 3
INASNS 7794873 2[1.6 5
T Tl T 1 578|4 6177|3729
7] 326(519|847
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14 Scattered Sudoku
Place a number from 1-9 in each empty cell in the grid such that each row, column and marked 9-cell region
contains each number exactly once. The 9 shaded cells form an additional 9-cell region.

Example Solution
518|7|3[112]|6|9|4
112 3 4|5 96 1|2 3 4|5 8 7
4 1 2 4(9 86 5713
3 2 8 3|/6|l4 57 112 9
5 3 75211419 8 3 6
7 6 1714 9/ 8 3|2|6 5
9 7/ 6 913 5214|178
5167 8(9 32 5|67 8|9 41
4111817|1916]3]5]2




